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Q-1 - 11468462

How many moles of C'O, will be formed when a mixture

containing 10 moles each of Li,C' O3 and Nay,C'Og3 are heated ?

SOLUTION:

On heating, L19oC' O3 decomposes to give Lio and C Oy

whereas K9(C' (O3 do not decompose.

A
Lo 003 — L9 0,
C'Os

Since one mole of Lio,C' O3 decomposes to give one
mole of C'O+, 10 moles of C' O will be formed on

heating a mixture containing 10 moles each of LioC' O3


https://doubtnut.app.link/o72FCTlIW2
https://doubtnut.app.link/VtcZyp0fY2

and NayCOs.

Watch Video Solution On Doubtnut App €

Q-2 - 11468467

Identity (A), (B), (C) and (D) and give their formula:

(A)(aq) + Zn — (B)(

Compound (A) imparts golden yellow colour to the Bunsen flame.

SOLUTION:

Compound (A) imparts golden yellow colour to the

Bunsen flame, it seems (A) is NaOH.

Na,OH(aq) + Zn
(A4)

— NCLQZnOQ + HQ(g)
(B)


https://doubtnut.app.link/VtcZyp0fY2
https://doubtnut.app.link/zhGHMt0fY2

NaOH (44)
(A)

+ Py
(C)
White phosphorous

A
—— NaHyPOy + PHs5

NaOH (.4 + NH,CI

(A4)
(D)
+ H,O

Hence, (A) is sodium (NaOH) hydroxide, (B) is
hydrogen gas (H>), (C ) is white phosphorous (Py) and

(D) is ammonia gas (N H3).

Watch Video Solution On Doubtnut App €

Q-3 - 11468468


https://doubtnut.app.link/zhGHMt0fY2
https://doubtnut.app.link/MbXyZx0fY2

A ceratin compound (A) imperts a golden yellow flame and exhibits
following reactions:

a. When a concentrated solution of (A) 1s boiled with Zn power,
hydrogen gas 1s evolved.

b. When an aqueous solution of (A) 1s added to an precipitate 1s
obtained, which dissolves 1n excess of solution (A).

Identity (A) and give equations for reactions in (11).

SOLUTION:

d.

NaOH ,4) + Zn
(4)

— NGQZnOz(aq)

Sodium
zincate

+ Hy 7

Hydrigon
gas


https://doubtnut.app.link/MbXyZx0fY2

NCLOH(aq) -+ S’ILCIQ

(A) Stannous
chloride

— Sn(OH), |

White ppt.
+ 2NaCl

Sn(OH), + NaOH

— NaosSnOs + 2H-50
Solulble

Hence, (A) is NaOH and imparts golden yellow colour to

the flame.

Watch Video Solution On Doubtnut App €

Q-4 - 11468469

An inorganic compound (A) loses its water of crystallisation on
heating and 1ts aqueous solution gives the following reactions:
a. It gives a white turbidity with dil HCI.

b. It decolourises a solution of 10dine in KI.


https://doubtnut.app.link/MbXyZx0fY2
https://doubtnut.app.link/lMpGxC0fY2

c. It gives a white ppt. with AgNV O3 solution, which turns black on

standing.

SOLUTION:

(A) is sodium thiosulphate, NaS203.5H50.

d.

NCLQSQOg -+ HCI
— NaCl + HQO

+ S4 + 50
White
turbidity

b.

2Nas52.03 + K3
(LinKI)

— Na9S410 + K1
2Nalc. NasSs0s
B 2AgN03

— Ag25203 |

White ppt.
+ NalN 03

Watch Video Solution On Doubtnut App 0


https://doubtnut.app.link/lMpGxC0fY2

Q-5 - 11468470

A white solid (A) is either Na,O or NayO5.

a. A piece of red litmus paper turns white when it 1s dipped into a
freshly made aqueous solution of the white solid.

b. Explain what would happen to the red litmus 1f the white solid

were the other compound.

SOLUTION:

a. NasO and Nay0Os, when dissolved in water give

NasO + Hyo_2nq0n
Nas Oy + 2H>0
— 2NaOH + H50,

A piece of litmus paper truns white when it is dipped into
a freshyl made aqueous solution of compoud (A), due to

bleaching action of H9(>, thus compound (A) is NayOs


https://doubtnut.app.link/fB99oH0fY2

, 1.e., sodium peroxide.
b. If white solid was Na»O, the red litmus paper will trun

blue due to the strong alkaline nature of the solution.

NasO + H,0O
— 2NaOH

Watch Video Solution On Doubtnut App 0

Q-6 - 11468472

A binary of potassium (A) on heating with sulphar, compound (B)
is formed. (B) on reacting with BaC'I, gives a white precipitate (C

) which 1s insoluble in concentrated HCI. Indenfity (A), (B) and (C

).

SOLUTION:

(A) + S = (B)

)
(A) + BaClI5
—  C

White ppt.


https://doubtnut.app.link/fB99oH0fY2
https://doubtnut.app.link/LXBj1L0fY2

(A) is binary salt of potassium. (C ) is white ppt. which is
insoluble in conc HCI.

A
2K02 + 85— KQSO4
(A) (B)

K>504 + BaClI
(B)

— 2KCI + BaSOy |
(C)
Whuite ppt.

Hence, (A) is K Oy (potassium peroxide), (B) is K9.504
(potassium sulphate) and (C ) is BaSO4 (barium

sulphate).

Watch Video Solution On Doubtnut App o

Q-7 - 11468549

Which of the following compounds decompose on heating ?


https://doubtnut.app.link/LXBj1L0fY2
https://doubtnut.app.link/ugpisQ0fY2

(A) CsOH
(B) KOH
(C) LiNO;

(D) NaHC O3

CORRECT ANSWER: C::D

SOLUTION:

A
4LiN03 — 2L150
+ 4ANOs + O,

2NaHCOq

A
—— NayCO3 + HO
+ CO>

Watch Video Solution On Doubtnut App 0

Q-8 - 11468550


https://doubtnut.app.link/ugpisQ0fY2
https://doubtnut.app.link/jFSisV0fY2

Which of the following compounds is/are not soluble in water ?

(A) NaCl
(B) LiF
(C) L1oC' O3

(D) NasCOs3
CORRECT ANSWER: B::C

SOLUTION:

LiF and Li9C' O3 being covalent are not soluble in water.

Watch Video Solution On Doubtnut App 0

Q-9 - 11478856

Carnallite 1s an ore of


https://doubtnut.app.link/jFSisV0fY2
https://doubtnut.app.link/Q6g6OZ0fY2

(A) Sodium
(B) Potassium
(C) Magnesium

(D) Aluminium
CORRECT ANSWER: B::C

SOLUTION:

Carnallite is KCl. M gCly.6 H50.

Watch Video Solution On Doubtnut App o

Q-10 - 11468558

When a mixture of Li,CO3 and Na,(CO3. 10H,0 is heated

strongly, there occurs a loss of mass due to

(A) Decomposition of Li1oCO3


https://doubtnut.app.link/Q6g6OZ0fY2
https://doubtnut.app.link/8XumN40fY2

(B) Loss of water by NasCO3.10H50
(C) Decomposition of NasCO3.10H50

(D) None of the above.

CORRECT ANSWER: A::B

SOLUTION:

A
L’izCOg — LiQO
+ COs

NCLQCOg,.lOHQO

A
— Na2003 10H20

Watch Video Solution On Doubtnut App €

Q-11 - 16017688

The pair of compounds which cannot exist together 1n aqueous

solution 1s:


https://doubtnut.app.link/8XumN40fY2
https://doubtnut.app.link/09ukw90fY2

(I)NaHyPO4 and NaHCO3 (II)NayCO3 and NaHCOg

(III)NaOH and NaH;PO,; (IV)NaHCO5 and NaOH

(A I, II, 11T
(B)II, ITI
C)I, IV

(D)only IV
CORRECT ANSWER: D

SOLUTION:

Acidic salt NaHCQO3 and NaOH (base) react with
each other so they cannot exist together in agueous

solution.

Watch Video Solution On Doubtnut App 0

Q-12 - 11468564


https://doubtnut.app.link/09ukw90fY2
https://doubtnut.app.link/NnSJEe1fY2

A highly pure dilute solution of sodium in liquid ammonia:

(A) Shows blue colour
(B) Exhibits electrical conductivity
(C) Produces sodium amide

(D) Produces hydrogen gas

CORRECT ANSWER: A::B

Watch Video Solution On Doubtnut App €

Q-13 - 11468568

The compounds(s) formed upon combustion of sodium metal excess

air 1s/are

(A) NasO»

(B) NasO


https://doubtnut.app.link/NnSJEe1fY2
https://doubtnut.app.link/E8o7Pj1fY2

(C) NaO5

(D) NaOH

CORRECT ANSWER: A::B

SOLUTION:

4Na + Oy — 2Nas0O and

2Na + 209
— 2N(1,202

Watch Video Solution On Doubtnut App €

Q-14 - 11468577

Which of the following 1s/are found in the solid state ?

(A) L1 HC O3
(B) KHCOs3

(C) NaHCO;


https://doubtnut.app.link/E8o7Pj1fY2
https://doubtnut.app.link/9QZMyo1fY2

(D) NH;HCO3
CORRECT ANSWER: B::C::D

SOLUTION:

All are soluble in water.

Watch Video Solution On Doubtnut App €

Q-15 - 20006775

The alkaline earth metals, which do not impart any colour to

Bunsen flame are :

(A) Be and Mg
(B) Mg and Ca
(C) Be and Ca

(D) Be and Ba


https://doubtnut.app.link/9QZMyo1fY2
https://doubtnut.app.link/cOCYht1fY2

CORRECT ANSWER: A

Watch Video Solution On Doubtnut App €

Q-16 - 12975967

All the alkali metals and their salts (particularly chlorides due to
their more volatile nature ) impart a characteristic color to the
oxidizing flame of Bunsen burner. Which of the following imparts

yellow color in a flame test?

CORRECT ANSWER: C

SOLUTION:


https://doubtnut.app.link/cOCYht1fY2
https://doubtnut.app.link/QQICUx1fY2

To perform the flame test, a sample of the metal chloride
or any salt of the metal moistened with conc. HCl is
heated on a Pt or nichrome wire in a Bunsen burner
flame. The heat from the burner excites one of the orbital
electrons to a higher level. When the excited e drops
back to its original energy level, it gives out the extra
energy it obtained. For alkali metals, the energy emitted
appears as visible light thus, giving the characteristic

flame colorations.

Watch Video Solution On Doubtnut App o

Q-17 - 11468582

Nitrogen dioxide cannot be obtained by heting

(A) KNQOs

(B) NaNOs


https://doubtnut.app.link/QQICUx1fY2
https://doubtnut.app.link/aA8RzC1fY2

(C) AgN O3

(D) Cu(N03)2
CORRECT ANSWER: A::B

SOLUTION:

They decompose on heating to give nitrite and O».
A
KNO3 — KNOy

1
+ 50+ (2)

A
NaNQO3 — NalNQOs

1
0,
5 V2

Watch Video Solution On Doubtnut App €

Q-18 - 11468587

Alkali metals can be extracted form their salts by


https://doubtnut.app.link/aA8RzC1fY2
https://doubtnut.app.link/rhIMpI1fY2

(A) Reduction with carbon
(B) Electrolysis of fused halides
(C) Electrolysis of used halides

(D) Reduction with aluminum

CORRECT ANSWER: C

Watch Video Solution On Doubtnut App o

Q-19 - 12975969

Which of the following alkali metals 1s frequently used as a cathode

in the photoelectric cells ?


https://doubtnut.app.link/rhIMpI1fY2
https://doubtnut.app.link/eIbKPM1fY2

(D) Li
CORRECT ANSWER: A

SOLUTION:

Except Li, all alkali metals exhibit photoelectric effects,
l.e., emit electrons from the surface on exposure to
visible light. This is on account of their low ionization
enthalpy, fails to do so. Because of the lowest ionization

enthalpy, Cs is frequently used in solar cells.

Watch Video Solution On Doubtnut App 0

Q-20 - 12675911

Which one is the highest melting halide ?

(A) NaCl

(B) NaBr


https://doubtnut.app.link/eIbKPM1fY2
https://doubtnut.app.link/XAoKkR1fY2

(C) NaF

(D) Nal
CORRECT ANSWER: C

SOLUTION:

NaF is the structure ionic crystal so its melting point

would be highest

Watch Video Solution On Doubtnut App €

Q-21 - 16017620

Which 1s an ore of potassium

(A) Carnallite
(B) Cryolite

(C) Bauxite


https://doubtnut.app.link/XAoKkR1fY2
https://doubtnut.app.link/7kgFRW1fY2

(D) Dolomite

CORRECT ANSWER: A

SOLUTION:
Carnallite Cryolite— Nas Al Fg
— KCl,MgClz,GHQO
Bauxite Dolomite— M gCOs
— (Al 05.2H50) . CaCOs

Watch Video Solution On Doubtnut App 0

Q-22 - 14157111

NaySO,. xH>0 has 50 % H,O. Henxe, x is :


https://doubtnut.app.link/7kgFRW1fY2
https://doubtnut.app.link/W3Poo11fY2

CORRECT ANSWER: D

SOLUTION:

% by wt. Of H,O

_ wt. OfHQO % 100
Total wt.

=0 — 18x
142 + 18
x 100

71 + 9 = 18z
r=71/9="7.88 ~ 8

Watch Video Solution On Doubtnut App 0

Q-23 - 11468619

Causticisation process 1s used for the preparation of

(A) Caustic soda

(B) Caustic potash


https://doubtnut.app.link/W3Poo11fY2
https://doubtnut.app.link/zTiC551fY2

(C) Slaked lime

(D) Sodium carbonate

CORRECT ANSWER: A

Watch Video Solution On Doubtnut App 0

Q-24 - 11468441

Choose the correct answers:

a. Which of the following alkali metal 1s the most electropositive ?
i.Na ,11. K ,111. Rb ,1v. Cs

b. Ehich of the following alkali metals has the lowest m.pt. ?
i.Li,1.K ,111.Na ,1v.Rb

c. Which of the following 1s the stronger reducing agent ?

1.Li,1.Na, 1. K ,1v Rb

SOLUTION:


https://doubtnut.app.link/zTiC551fY2
https://doubtnut.app.link/mXUACa2fY2

a. (iv) Cs, because of lits low |IE values.
b. (iv) Rb, metallic bending is weakest in Rb.

c. (i) Li.

Watch Video Solution On Doubtnut App o

Q-25 - 11468623

Which of the following elements combines directly with nitrogen to

form 1ts nitride ?

CORRECT ANSWER: A

SOLUTION:


https://doubtnut.app.link/mXUACa2fY2
https://doubtnut.app.link/ZMYlAf2fY2

Only Li reacts with N9 to form stable nitride
6Lt + Ny — 2Li3N

Watch Video Solution On Doubtnut App o

Q-26 - 11468634

Which of the following 1s strongly hydrated in aqueous solution ?

(A) Li©
(B) Na®
(C)K©®

(D) Cs®
CORRECT ANSWER: A

SOLUTION:

Li® due to highest positive charge density gets

hydrated to maximum extent.


https://doubtnut.app.link/ZMYlAf2fY2
https://doubtnut.app.link/EwLvul2fY2

Watch Video Solution On Doubtnut App 0

Q-27 - 11468636

Which of the following alkali metal does not form alum ?

CORRECT ANSWER: A

SOLUTION:

Li® ion due to its small size does not form a stable

lattice structure.

Watch Video Solution On Doubtnut App 0


https://doubtnut.app.link/EwLvul2fY2
https://doubtnut.app.link/vgYFlq2fY2

Q-28 - 12676606

The alkali metals form salt like hydrides by the direct synthesis at
elevated temperature. The termal stability of these hydrides

decreases 1in which of the following orders ?

(A)
KH > NaH > LiH
> (CsH > RbH

(B)
NaH > LiH > KH
> RbH > (CsH

(C)
IL:H > NaH > KH
> RbH > (CsH

(D)
CsH > RbH > KH
> NaH > LtH

CORRECT ANSWER: C


https://doubtnut.app.link/6QXWWu2fY2

SOLUTION:

The tendency to form their hydrides, basic character and
stability decreases from L1 to C's since the

electropositive character decreases fro C's to Lz.

Watch Video Solution On Doubtnut App 0

Q-29 - 11468664

shine at freshly cut sodium is because of

(A) Oscillations of free electrons
(B) Weak metallic bonding
(C) Absorption of light in crystal lattice

(D) Pressence of free valency at the surface

CORRECT ANSWER: A


https://doubtnut.app.link/6QXWWu2fY2
https://doubtnut.app.link/phiYlz2fY2

Watch Video Solution On Doubtnut App 0

Q-30 - 18255521

Sodium peroxide, a yellow solid, when exposed to air becomes

white due to the formation of

(A) HyOo
(B) NayO
(C) NayO and Os

(D) NaOH and NayCOs3

CORRECT ANSWER: D

SOLUTION:

In the presence of moisture and C Oy, Nas O, is

converted into NaOH and NayCOs3


https://doubtnut.app.link/phiYlz2fY2
https://doubtnut.app.link/htrnuF2fY2

Watch Video Solution On Doubtnut App 0

Q-31 - 12661020

KOy 4+ COy — 7(gas)

CORRECT ANSWER: C

SOLUTION:
2K049 + CO9
3
— KQCO?, -+ 502

Watch Video Solution On Doubtnut App Q

Q-32 - 11468448


https://doubtnut.app.link/htrnuF2fY2
https://doubtnut.app.link/blCvDJ2fY2
https://doubtnut.app.link/LvCVEO2fY2

Arrange the following in order of the increasing covalent character:

MCI, MBr, MF, MI (where M = alkali metals)

SOLUTION:

MF < MClI< MBr<
Size of anion F'< Cl'< Br'c<
Degree of polarisation F' < Cl°' < Br'’ <
Covalent character MF < MClI< MBr<

With increasing size of the anion, degree of polarisation
by the cation increses and hence the covalent character

Increases.

Watch Video Solution On Doubtnut App €

Q-33 - 11468697

One of the natural minerals of sodium is tincal. Its formula i1s


https://doubtnut.app.link/LvCVEO2fY2
https://doubtnut.app.link/E7pRlT2fY2

(A) NasCO3.10H,0
(B) NalNOs
(C) NCLQB4O7.1OHQO

(D) NaClI
CORRECT ANSWER: C

Watch Video Solution On Doubtnut App 0

Q-34 - 11468832

(a). Give an example of laboratory desiccant.

(b). What are the products formed when M gC'l,.6 H5O is heated?

SOLUTION:

a. Anhydrous CaCls.

b.


https://doubtnut.app.link/E7pRlT2fY2
https://doubtnut.app.link/GDgaAX2fY2

MgClz.6H20

A
— MgO + 2HCI
+ 5H-50

Watch Video Solution On Doubtnut App €

Q-35 - 11468833

Plaster of paris on losing water and gaining water gives A and b.

Identify A and B.

SOLUTION:

1
Plaster fo paris is CaSQOy. EHQO

On losing water, it forms C'aSO4

1
CaS0Oy. EHZO
1
— CCLSO4 -+ EHZO
(A
) Dead burn plaster


https://doubtnut.app.link/GDgaAX2fY2
https://doubtnut.app.link/riITl22fY2

On gaining water, it forms
1
CaS0y. EHZO
3
+ EHQO

— CaS04.2H50
(B) Gypsum

(A) and (B) are CaSO4 and CaS0O4.2H,0

respectively.

Watch Video Solution On Doubtnut App 0

Q-36 - 11468836

Which is the weakest base among NaOH, Ca(OH),, KOH and

Be(OH),.

SOLUTION:

Be(OH),is the weakest base, since alkali metal

hydroxides are stronger base than alkaline earth metal


https://doubtnut.app.link/riITl22fY2
https://doubtnut.app.link/bA0ml72fY2

hydroxides. Also, basic character of hydroxides
increases on moving down the group. Hence, Be(OH),,

IS the weakest base.

Watch Video Solution On Doubtnut App o

Q-37 - 11468840

Chemical (X)) is used for water softening to remove temporary

hardness. (X) reacts with sodium carbonate to generate caustic

soda. When C'O, is bubbled through (X)?

SOLUTION:

Ca(OH), is used for water softening to remove

temporary hardness.

Ca(OH), + CaHCOs
(X)

— 20&003 l + 2H20


https://doubtnut.app.link/bA0ml72fY2
https://doubtnut.app.link/aMxiIc3fY2

C’a(OH)2 + NasCOs4
— 2NaOH + caCOs

Sodium hydroxide
or caustic soda

Ca(OH), + CO»

— CaCOs3 \l, + H>O
Milkiness

Hence, (X X) is Ca(OH),.

Watch Video Solution On Doubtnut App o

Q-38 - 11468844

Strong
200°C heati
CaSO,2H,0 > (B) 28, (¢
gypsum
l‘ 120°C
(A)

Identify (A), (B) and (C).


https://doubtnut.app.link/aMxiIc3fY2
https://doubtnut.app.link/hmSX3g3fY2

SOLUTION:
CaS04.2H20

Gypsum

120C 1
— (CaS0y. EHZO

3
—+ 5 H>0
( A) Plaster of paris

CCLSO4.2HQO

200C
— CCLSO4

(B)
Death burnt plaster

+ 2H50

CaSOy

Strong heating

> CaO + S09 + O-
(C)

Lime

1
Hence, (A) is plaster of paris, CaSOy. EHQO, (B) is

dead burnt plaster, CaSO4 and (C) is lime, CaO.

Watch Video Solution On Doubtnut App 0


https://doubtnut.app.link/hmSX3g3fY2

Q-39 - 11468899

Soduim sulphate 1s soluble in water but barium sulphate 1s sparingly

soluble because

(A) The hydration enthalpy of Nas SO, is more than its

lattice enthalpy.

(B) The lattice enthalpy of Ba SO, is more than its

hydration enthalpy.
(C) The lattice enthalpy has no role to play in solubillity.

(D) The lattice enthalply of Nay SOy is more than its

hydration enthalpy.

CORRECT ANSWER: A::B

Watch Video Solution On Doubtnut App €

Q-40 - 11468902


https://doubtnut.app.link/hmSX3g3fY2
https://doubtnut.app.link/qXh4ml3fY2
https://doubtnut.app.link/9Gk7vq3fY2

The alkaline earth metals forming ionic oxides are

(A) BeO
(B) M gO
(C) CaO

(D) STO
CORRECT ANSWER: B::C::D

SOLUTION:

Due to less charge/radius ratio, M g™, Ca*" and
Sr2 T polarise O?~ to smaller externd and hence the

oxides formed (M gO, CaO, srQ) are ionic.

Watch Video Solution On Doubtnut App 0

Q-41 - 11468903


https://doubtnut.app.link/9Gk7vq3fY2
https://doubtnut.app.link/6UoW9u3fY2

Which of the following groups of elements have properties that are

most similar?

CORRECT ANSWER: A::B::C

Watch Video Solution On Doubtnut App €

Q-42 - 11468990

Be and Al exhibit many properties which are similar. But the two

elements differ in

(A) Forming covalent bonds


https://doubtnut.app.link/6UoW9u3fY2
https://doubtnut.app.link/et4ifA3fY2

(B) Forming polymeric hydrides
(C) Exhibiting maximum covalency in compounds

(D) Exhibiting amphoteric nature in their oxides

CORRECT ANSWER: C

SOLUTION:

Be exhibits maximum coordination 4, whereas Al, due
to the presence of low lying d — orbital has coordination

number 0.

Watch Video Solution On Doubtnut App 0

Q-43 - 16112946

Which of the following pairs can be distinguished by action of heat?
i. KoCO3 and CaCOs

ii. NayCO3 and Mg(NO3),


https://doubtnut.app.link/et4ifA3fY2
https://doubtnut.app.link/UnWZcF3fY2

iii. M g(INO3), and NaNO,

(A)iand il

(B) i and iii

(C) i, i, iil

(D) none of these

CORRECT ANSWER: C

SOLUTION:

.
NCLQCOgKQCOg

A
— no reaction

A
CaCO3 — CaO
+ CO9


https://doubtnut.app.link/UnWZcF3fY2

A
Mg(N03)2 — MgO

1
+ NO;, + 502

A
NaNQO3; — NaNOQO,
1
—0
+ 5 2

Watch Video Solution On Doubtnut App 0

Q-44 - 11468911

The hydration entahphy of Mg?™" ion is higer than that of

(A) AP T
(B) Be*™
(C) Na®

(D) K ©

CORRECT ANSWER: C::D


https://doubtnut.app.link/UnWZcF3fY2
https://doubtnut.app.link/DXLxQJ3fY2

SOLUTION:

M92 T jon has greater charge/radius ratio as compared
to Na® and K ® and hence has higher hydration

enthalpy.

Watch Video Solution On Doubtnut App o

Q-45 - 12676659

Plaster of Paris hardens by

(A) giving off CO
(B) utilizing water
(C) changing into CaCOj3

(D) giving out water

CORRECT ANSWER: B


https://doubtnut.app.link/DXLxQJ3fY2
https://doubtnut.app.link/LUGrxO3fY2

SOLUTION:
2CaS04. HyO

Setting

? CCLSO4.2HQO

H>O
Harding

» CaS04.2H50

Watch Video Solution On Doubtnut App o

Q-46 - 11468914

Select the correct statements about barium:

(A) It shows photoelectric effect.
(B) It is silvery white metal.

(C) It forms Ba(/NO3), which is used in preparation of

green fire.

(D) Its ionisation enthalply is less than radium.

CORRECT ANSWER: B::C::D


https://doubtnut.app.link/LUGrxO3fY2
https://doubtnut.app.link/9ChXiT3fY2

Watch Video Solution On Doubtnut App o

Q-47 - 11468934

Slaked lime 1s obtained when water 1s added to

1
(R) CaSO4.  Hp0

(B) CaCls
(C) CaO

(D) CaCOs
CORRECT ANSWER: C

SOLUTION:

CCLO -+ HQO

— Ca(OH),
Slaked lime

Watch Video Solution On Doubtnut App 0


https://doubtnut.app.link/9ChXiT3fY2
https://doubtnut.app.link/A1r20X3fY2

Q-48 - 11468935

Which of the following 1s not present in cement ?

(A) Gypsum
(B) Clay
(C) Almina

(D) Alum

CORRECT ANSWER: D

Watch Video Solution On Doubtnut App 0

Q-49 - 11468944

Which of the following compound is most soluble in water?

(A) MgSOy


https://doubtnut.app.link/gA6vB23fY2
https://doubtnut.app.link/XdBIi73fY2

(B) CaS0Oy
(C) STSO4

(D) BaSOy

CORRECT ANSWER: A

SOLUTION:

Lattice enthalpy decreases less rapidly as compared to
hydration enthalpy in case of alkaline earth metal

sulphates.

Watch Video Solution On Doubtnut App 0

Q-50 - 16017640

Which of the following compound decompound decomposes at

highest temperature-

(A) STrCOs3


https://doubtnut.app.link/XdBIi73fY2
https://doubtnut.app.link/R5l8vb4fY2

(B) BaC O3
(C) CaCOs

(D) MgCOs
CORRECT ANSWER: B

SOLUTION:

Ba(C' O3 decomposes at highest temp.
All the carbonates decompose on heating to give C' O

and metal oxide.

A
MCOg — MO
+ CO»

The stability of carbonate towards heat depends upon
the stability of the resulting metal oxide. More is the
stability of the resulting metal oxide lesser is the stability

of the carbonate towards heat and vice versa.


https://doubtnut.app.link/R5l8vb4fY2

Watch Video Solution On Doubtnut App 0

Q-51 - 11469028

Assertion (A): Be(OH), is soluble in NaOH.

Reason (R ): Be(OH), is amphoteric in nature.

(A) If both (A) and (R) are correct and (R) is the

correct explanation of (A).

(B) If both (A) and (R) are correct, but (R) is not the

correct explanation of (A).
(C) If (A) is correct, but (R) is incorrect.

(D) If (A) is incrrect, but (R) is correct.

CORRECT ANSWER: A

Watch Video Solution On Doubtnut App 0


https://doubtnut.app.link/R5l8vb4fY2
https://doubtnut.app.link/dd7veg4fY2

Q-52 - 11468950

Of the following , and amphoteric hydroxide 1s

(A) Ca(OH),
(B) NaOH
(C) Be(OH),

(D) LtOH
CORRECT ANSWER: C

SOLUTION:

Due to the smallest size and highest ionisation enthalpy
of Be, Be(OH), is amphoteric, i.e. reacts both with an

acid and a base.

Watch Video Solution On Doubtnut App €


https://doubtnut.app.link/eH0RUk4fY2

Q-53 - 11468956

Which of the following fluoride 1s more soluble in water?

(A) BaF
(B) B€F2
(C) MgF>

(D) CG,FQ
CORRECT ANSWER: B

SOLUTION:

Hydration enthalpy of small and highly charged Be? T s

too high that it compensates for the high lattice enthalpy.

Watch Video Solution On Doubtnut App 0

Q-54 - 11468960


https://doubtnut.app.link/dAZLkp4fY2
https://doubtnut.app.link/fsAp8u4fY2

Which of the following metal reacts with cold H,O with the

evolution of H, gas?

(A) Ca
(B) Al
(C) Zn

(D) Cu
CORRECT ANSWER: A

SOLUTION:

Ca + 2H,0
— CCL(OH)2 + Ho

Watch Video Solution On Doubtnut App €

Q-55 - 11468962

Which of the following does not contain the true peroxide 1on?


https://doubtnut.app.link/fsAp8u4fY2
https://doubtnut.app.link/Wh7FRz4fY2

(A) NasO»
(B) H2 O
(C) BaO»

(D) ST09

CORRECT ANSWER: B

Watch Video Solution On Doubtnut App 0

Q-56 - 11468965

Which of the following alkaline earth metal carbonate 1s thermally

least stable?

(A) BeC O3
(B) CaCO3
(C) MgCOs

(D) BaCOs


https://doubtnut.app.link/Wh7FRz4fY2
https://doubtnut.app.link/HCpQiF4fY2

CORRECT ANSWER: A

SOLUTION:

Due to incompatibility in size of Be?™ and COg_ ions

Be(COj is thermally least unstable.

Watch Video Solution On Doubtnut App o

Q-57 - 11468973

Which of the following 1s used as an antacid?

(A) M gO
(B) Mg(OH),
(C) MgSOy

(D) MgCOs

CORRECT ANSWER: B


https://doubtnut.app.link/HCpQiF4fY2
https://doubtnut.app.link/uwLtbK4fY2

SOLUTION:

Due to strong basic character of M g(OH),.

Watch Video Solution On Doubtnut App 0

Q-58 - 11468976

M g burns in air to give

(A) M gsNo
(B) M gO
(C) MgO and MggNg

(D) MgO and MggNz
CORRECT ANSWER: C

SOLUTION:

M g reacts both with O and [Ny present in air to form


https://doubtnut.app.link/uwLtbK4fY2
https://doubtnut.app.link/8FR0QO4fY2

MgO and MggNg.

2Mg + Oy — 2MgO
3Mg+ Ny — MgsN»

Watch Video Solution On Doubtnut App o

Q-59 - 11468985

Bleaching powder loses its power on keeping for a long time

because

(A) It absorbs moisture

(B) It changes into calcium hypochlorite

(C) It changes into calcium and calcium chlorate
(D) It cahnges salt of calcium chloride and calcium

hydroxide

CORRECT ANSWER: B


https://doubtnut.app.link/8FR0QO4fY2
https://doubtnut.app.link/CQMt1T4fY2

Watch Video Solution On Doubtnut App 0

Q-60 - 11468989

One mole of magnesium nitride on reaction with an excess of water

gives

(A) One mole of N Hj
(B) Two moles of /N Hg
(C) One mole of H NOs

(D) Two moles of H NO;

CORRECT ANSWER: B

SOLUTION:

MggNQ 6H20
— 3Mg(OH),
+ 2N H3

Watch Video Solution On Doubtnut App 0


https://doubtnut.app.link/CQMt1T4fY2
https://doubtnut.app.link/WX9LPY4fY2
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